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a |C BB THIEEE
= D EH B*C
% E %8 B #(ER)
T % [F BiiEEs
& G EAS|EE EXF
icx H 585 TRfHIESE
iid J L ERE A+D+G+H 0 0
B |7 KHEER
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= 2, REE?
Sk ek ARl 3%t
M ES 2252 | = %l 58 BREE|] 2252 |REsaMEEE
Bima% (FTE&EHhE 1-FNo ER > £ 1.00 YE R B L #% RE e E A=
# 6 [RAEXH 5% 40 _ 1-1 1 B NERAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 2.000] A 57,400 114,800 57,400 114,800 0.000 0
3|EMA R ERAEHE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
B 206,600 206,600 0.000 0
B fiff 1.0 43y 206,600
EEANE 206,600
ZTDMIRE 0
datza (&E) EFEFE. PETEE20E. REYMARBROT4E




= REE?
=25 1 A B (i 3= i
M ES 3330 | = %l 58 ZHFEE| 3330 |mEZHamEEE
Bif&# | PliEHE 1-FNo YER D 1.00 ERRE | B RE e E A=
B S |BRAIRS _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 2| FEHED RIFMTEHEEEREE 0.720] A 57,400 41,328 57,400 41,328(0.72x(1.01.00)|| 0.000 0
* 5|HiEfiC R ERAEHE 0.720f A 32,800 23,616/ 32,800 23,616[0.72x(1.0x1.00)]| 0.000 0
* e =] RIFZMTEHEEEREE 1.2200 A 29,000 35,380| 29,000 35,380(1.22x(1.0%1.00)|| 0.000 0
500|554 & RIS HEE 2.000] % 100,324 2,006 0 0 0.000 0
i 102,330 100,324 0.000 0
B fiff 1.0 i &) 102,330
EEANE 100,324
ZTRMBE 2,006
datza (EE) BHHFEERUMHES




= REE?
=25 1 A B (i 3= i
M ES 3333 | = %l 58 ZFEE| 3333 |mEZHamMEEE
B4 | IRt R 1-FNo YEREH | 5000.00 |VERCEENL ha AE e E A=
B S |BRAIRS _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1EBE-BE RIFMTEHEEEREE 0.700] A 65,500 45,850| 65,500 45,850(0.70%(1.0%1.00)|| 0.000 0
* 2| FEHER R EHEEEREE 0.700[ A 57,400 40,180/ 57,400 40,180[0.70%(1.0x1.00)]| 0.000 0
* 3| FRETA RIFZMTEHEEEREE 1.400[ A 51,200 71,680 51,200 71,680]1.40%(1.01.00)]| 0.000 0
* 4| BB R EEEREE 1.400] A 40,600 56,840/ 40,600 56,840(1.40%(1.0x1.00)]| 0.000 0
* 5|3EMC R EHEEEREE 1.200f A 32,800 39,360/ 32,800 39,360(1.20x(1.0%1.00)|| 0.000 0
* ez =] RIFMTEEEREE 0.700[ A 29,000 20,300[ 29,000 20,300(0.70%(1.0x1.00)]| 0.000 0
500|FE# 5 HELHEICHT BEE 2.000| % 274,210 5,484 0 0 0.000 0
i 279,694 274,210 0.000 0
B 1 1.0 hayl) 56
EEAGE 55
ZTRMBE 1

datal (&%) EMHBEERUMHESF XEANGHE




= REE?
=25 1 A B (i 3= i
M ES 3335 | = %l 58 ZFEE| 3335 |mEAaMEEE
Bl % RitEE 1-FNo YEREH | 5000.00 |VERCEENL ha AE e E A=
B S |BRAIRS _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1EBE-BE RIFMTEHEEEREE 2.340] A 65,500 153,270 65,500 153,270(2.34%(1.0x1.00)]| 0.000 0
* 2| FE AT R EHEEEREE 6.840] A 57,400 392,616] 57,400 392,616/6.84x(1.0¢1.00)|| 0.000 0
* 3| FRETA RIFZMTEHEEEREE 8.180] A 51,200 418,816/ 51,200 418,816/8.18x(1.0¢1.00)|| 0.000 0
* 4| BB R EEEREE 10.180] A 40,600 413,308/ 40,600 413,308[10.18x(1.0x1.00)]| 0.000 0
* 5|3EMC R EHEEEREE 8.840] A 32,800 289,952| 32,800 289,952|8.84*(1.0%1.00)|| 0.000 0
* ez =] RIFMTEEEREE 5.340 A 29,000 154,860| 29,000 154,860]5.34x(1.0%1.00)]| 0.000 0
500G E MR LIS DEE 2.000[ % 1,822,822 36,456 0 0 0.000 0
i 1,859,278 1,822,822 0.000 0
B 1 1.0 hayl) 372
EEANE 365
ZTRMBEE 7

datad

(%%) BEREZRUMHEST X2ANEHEE




= REE?
=25 1 A B (i 3= i
M ES 3337 | = %l 58 ZHFEE| 3337 |mEZAamEEE
B4 7 | EFERL 1-FNo YEREH | 5000.00 |VERCEENL ha AE ESTETAE J=E-T
B S |BRAIRS _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 2| FEHED RIFMTEHEEEREE 47201 A 57,400 270,928| 57,400 270,928|4.72x(1.0%1.00)|| 0.000 0
* 3|EMA R ERAEHE 5940 A 51,200 304,128/ 51,200 304,128(5.94*(1.0x1.00)]| 0.000 0
* 4|3ENB RIFZMTEHEEEREE 7.940] A 40,600 322,364] 40,600 322,364|7.94x(1.0%1.00)|| 0.000 0
* 5|HiEfiC R ERAEHE 8.720/ A 32,800 286,016/ 32,800 286,016(8.72x(1.0x1.00)]| 0.000 0
* 6| FfiiE R EHEEEREE 6.220] A 29,000 180,380 29,000 180,38016.22%(1.0x1.00)|| 0.000 0
500|554 & MRS HEE 2.000] % 1,363,816 27,276 0 0 0.000 0
i 1,391,092 1,363,816 0.000 0
B 1 1.0 hayl) 278
EEANE 273
ZTRMBE 5
datza (BE) BHHFEERUMHBESE X2ANLGHE




= REE?
=25 1 A B (i 3= i
M ES 3338 | = %l 58 ZFEE| 3338 |mEZHamMEEE
B4 7 | EFERL 1-FNo YEREH | 5000.00 |VERCEENL ha AE ESTETAE J=E-T
B s |BRAIXS B _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 2| FEHED RIFMTEHEEEREE 5190 A 57,400 297,906 57,400 297,906/4.72x(1.0%1.10)|| 0.000 0
* 3|EMA R ERAEHE 6.530[ A 51,200 334,336/ 51,200 334,336(5.94%(1.0x1.10)]| 0.000 0
* 4| EfB RIFZMTEHEEEREE 8.730] A 40,600 354,438] 40,600 354,438|7.94x(1.0%1.10)|| 0.000 0
* 5|HiEfiC R ERAEHE 9.590[ A 32,800 314,552 32,800 314,552(8.72x(1.0x1.10)]| 0.000 0
* 6| FfiiE R EHEEEREE 6.840] A 29,000 198,360 29,000 198,360(6.22%(1.0%1.10)|| 0.000 0
500|554 & MRS HEE 2.000] % 1,499,592 29,992 0 0 0.000 0
B 1,529,584 1,499,592 0.000 0
B 1 1.0 hayl) 306
EEANE 300
ZTRMBE 6
datza (BE) MHHREERUMBEE XE&AEWGEHE




= REE?
=25 1 A B (i 3= i
M ES 3339 | = %l 58 ZHFEE| 3339 |mEsamMEEE
B4 7 | BT IR AT 1-FNo YEREH | 5000.00 |VERCEENL ha AE ESTETAE J=E-T
B S |BRAIRS _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1EBE-BE RIFMTEHEEEREE 0.710 A 65,500 46,505 65,500 46,505(0.71x(1.0%1.00)|| 0.000 0
* 2| FEHER R EHEEEREE 1.210] A 57,400 69,454/ 57,400 69,454[1.21%(1.0x1.00)]| 0.000 0
* 3| FRETA RIFZMTEHEEEREE 14200 A 51,200 72,704 51,200 72,704]1.42x(1.0%1.00)|| 0.000 0
* 4| BB R EEEREE 1.420] A 40,600 57,652/ 40,600 57,652[1.42%(1.0x1.00)]| 0.000 0
* 5|FEfiC R EHEEEREE 0.710 A 32,800 23,288 32,800 23,288(0.71x(1.0%1.00)|| 0.000 0
* ez =] RIFMTEEEREE 0.710 A 29,000 20,590[ 29,000 20,590(0.71%(1.0x1.00)]| 0.000 0
500G E MR LIS DEE 2.000[ % 290,193 5,804 0 0 0.000 0
i 295,997 290,193 0.000 0
B 1 1.0 hayl) 59
EEANE 58
ZTRMBE 1
datza (EZ) BHHFEERUMHESE XEBoWEHRE




= REE?
=25 1 A B (i 3= i
M ES 3340 | = %l 58 ZHRFEE| 3340 |mEZHamEEE
B4 7 | BT IR AT 1-FNo YEREH | 5000.00 |VERCEENL ha AE ESTETAE J=E-T
B s |BRAIXS B _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1EBE-BE RIFMTEHEEEREE 0.780] A 65,500 51,090/ 65,500 51,090/0.71x(1.0x1.10)]| 0.000 0
* 2| FE AT R EHEEEREE 1.330 A 57,400 76,342| 57,400 76,342[1.21%(1.0%1.10)]| 0.000 0
* 3| FRETA RIFZMTEHEEEREE 1.560] A 51,200 79,872 51,200 79,872[1.42%(1.0%1.10)]| 0.000 0
* 4| BB R EEEREE 1.560] A 40,600 63,336/ 40,600 63,336[1.42x(1.0x1.10)]| 0.000 0
* 5|FEfiC R EHEEEREE 0.780] A 32,800 25,584| 32,800 25,58410.71x(1.0x1.10)|| 0.000 0
* ez =] RIFMTEEEREE 0.780[ A 29,000 22,620 29,000 22,620[0.71%(1.0x1.10)]| 0.000 0
500(FEM & HELHEICHTSEE 2.000[ % 318,844 6,377 0 0 0.000 0
i 325,221 318,844 0.000 0
B 1 1.0 hayl) 65
EEANE 64
ZTRMBE 1
datza (EZ) BHHFEERUMHESE XEBoWEHRE




= REE?
=25 1 A B (i 3= i
M ES 3341 | = %l 58 ZHREE|] 3341 |mEZsamEEE
B4 | SRESERK 1-FNo ER > £ 1.00 FpEEET RE e E A=
B & _ _ 1% B NERAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1EBE-BE RIFMTEHEEEREE 0.970] A 65,500 63,535| 65,500 63,535 0.000 0
* 2| FE AT R EHEEEREE 1.970 A 57,400 113,078/ 57,400 113,078 0.000 0
* 3| FRETA RIFZMTEHEEEREE 2440 A 51,200 124,928 51,200 124,928 0.000 0
* 4|3 EfB R EEEREE 3.940] A 40,600 159,964| 40,600 159,964 0.000 0
* 6| FfiiE R EHEEEREE 4470 A 29,000 129,630 29,000 129,630 0.000 0
500|554 & HELEHTZEE 2.000] % 591,135 11,823 0 0 0.000 0
B 602,958 591,135 0.000 0
B fiff 1.0 BERX LY 602,958
EEANE 591,135
ZTRMBE 11,823
datza (EE) BHHFEERUMHES




= REE?
SR KBS gt
M ES 3348 | = %l 58 ZFEE| 3348 |mEAaMEEE
B4 7 | BT IR AT 1-FNo YEREH | 5000.00 |VERCEENL ha AE ESTETAE J=E-T
BB [MAIRS 1R _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1EBE-BE RIFMTEHEEEREE 0.850] A 65,500 55,675| 65,500 55,675(0.71x(1.0%1.20)]| 0.000 0
* 2| FE AT R EHEEEREE 1450 A 57,400 83,230/ 57,400 83,230(1.21x(1.0x1.20)]| 0.000 0
* 3| FRETA RIFZMTEHEEEREE 1.700f A 51,200 87,040/ 51,200 87,040/1.42x(1.0x1.20)]| 0.000 0
* 4| BB R EEEREE 1.700] A 40,600 69,020/ 40,600 69,020(1.42x(1.0x1.20)]| 0.000 0
* 5|FEfiC R EHEEEREE 0.850] A 32,800 27,880| 32,800 27,880[0.71x(1.0%1.20)]| 0.000 0
* ez =] RIFMTEEEREE 0.850[ A 29,000 24,650[ 29,000 24,650[0.71%(1.0x1.20)]| 0.000 0
500G E MR LIS DEE 2.000[ % 347,495 6,950 0 0 0.000 0
i 354,445 347,495 0.000 0
B 1 1.0 hayl) 71
EEANE 69
ZTRMBE 2

datal (f%%) HHMHREZERUMHESF




= REE?
=25 1 A B (i 3= i
M ES 3350 | = %l 58 ZHFEE| 3350 |REHMEEER
B4 | IRt R 1-FNo YEREH | 5000.00 |VERCEENL ha AE e E A=
B & |BRIRS 5 _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1EBE-BE RIFMTEHEEEREE 0.630] A 65,500 41,265 65,500 41,265]0.70%(1.0x0.90)|| 0.000 0
* 2| FE AT R EHEEEREE 0.630] A 57,400 36,162| 57,400 36,162]0.70x(1.0x0.90)|| 0.000 0
* 3| FRETA RIFZMTEHEEEREE 1.260] A 51,200 64,512| 51,200 64,512|1.40%(1.0x0.90)|| 0.000 0
* 4|3 EfB R EEEREE 1.260] A 40,600 51,156/ 40,600 51,156(1.40%(1.0x0.90)]| 0.000 0
* 5|FEfiC R EHEEEREE 1.080 A 32,800 35,424| 32,800 35,424|1.20%(1.0x0.90)|| 0.000 0
* ez =] RIFMTEEEREE 0.630[ A 29,000 18,270| 29,000 18,270(0.70%(1.0%0.90)]| 0.000 0
500G E NESEHTIEE 2.000[ % 246,789 4,936 0 0 0.000 0
i 251,725 246,789 0.000 0
B 1 1.0 hayl) 50
EEANE 49
ZTRMBE 1
datza (BE) BHHFEERUMHBESE X2ANLGHE




= REE?
=25 1 A B (i 3= i
M ES 3351 | = %l 58 ZFEE| 3361 |REAMEEER
Bl % RitEE 1-FNo YEREH | 5000.00 |VERCEENL ha AE e E A=
B & |BRIRS 5 _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1EBE-BE RIFMTEHEEEREE 21101 A 65,500 138,205 65,500 138,205(2.34%(1.0%0.90)| | 0.000 0
* 2| FEHER R EHEEEREE 6.160[ A 57,400 353,584 57,400 353,584(6.84*(1.0%0.90)]| 0.000 0
* 3| FRETA RIFZMTEHEEEREE 7.360] A 51,200 376,832| 51,200 376,832|8.18x(1.0%0.90)|| 0.000 0
* 4|3 EfB R EEEREE 9.160[ A 40,600 371,896/ 40,600 371,896/(10.18x(1.0x0.90)]| 0.000 0
* 5|FEfiC R EHEEEREE 7.960] A 32,800 261,088 32,800 261,088|8.84x(1.0%0.90)|| 0.000 0
* ez =] RIFMTEEEREE 4810 A 29,000 139,490| 29,000 139,49015.34x(1.0%0.90)}| 0.000 0
500(FEM & HELHEICHTSEE 2.000[ % 1,641,095 32,822 0 0 0.000 0
B 1,673,917 1,641,095 0.000 0
B 1 1.0 hayl) 335
EEANE 328
ZTRMBEE 7

data| (5#)




= REE?
=25 1 A B (i 3= i
M ES 3352 | = %l 58 ZHRFEE| 3352 |REAMEEER
B4 7 | EFERL 1-FNo YEREH | 5000.00 |VERCEENL ha AE ESTETAE J=E-T
BB [MAIRS 1R _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 2| E{EHED RIFMTEHEEEREE 5.660] A 57,400 324,884| 57,400 324,884(4.72%1.2=5.66 || 0.000 0
* 3|EMA R ERAEHE 7.130] A 51,200 365,056/ 51,200 365,056(5.94%1.2=7.13 || 0.000 0
* 4|3ENB RIFZMTEHEEEREE 9.530] A 40,600 386,918/ 40,600 386,918/7.94%1.2=9.53 || 0.000 0
* 5|HiEfiC R ERAEHE 10.460| A 32,800 343,088/ 32,800 343,088(8.72%1.2=10.46]| 0.000 0
* 6| FfiiE R EHEEEREE 7.460] A 29,000 216,340 29,000 216,340/6.22%1.2=7.46 || 0.000 0
500|554 & MRS HEE 2.000] % 1,636,286 32,726 0 0 0.000 0
i 1,669,012 1,636,286 0.000 0
B 1 1.0 hayl) 334
EEANE 327
ZTRMBEE 7

data| (5#)




= REE?
=25 1 A B (i 3= e
M ES 3357 | = %l 58 ZHFEE| 3357 |REAMEEER
B4 7 | BRERAERK 1-FNo ER > £ 1000 [YERCEfGLI| &R RE e E A=
B & [EHREESY _ _ i B NEEAGE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i H® | = %8
4|3ENB RIFMTEHEEEREE 0.050] A 40,600 2,030] 40,600 2,030 0.000 0
5|HiEfiC R ERAEHE 0.090] A 32,800 2,952] 32,800 2,952 0.000 0
e =] RIFZMTEHEEEREE 0.170] A 29,000 4,930] 29,000 4,930 0.000 0
B 9,912 9,912 0.000 0
B fiff 1.0 BEFrSY 991
EEANE 991
ZTDMIRE 0
data| (5#)
2




= REE?
=25 1 A B (i 3= i
M ES 3358 | = %l 58 ZiFEE| 3358 |REAMEEER
B4 7 | BT IR AT 1-FNo YEREH | 5000.00 |VERCEENL ha AE ESTETAE J=E-T
B S |BRAIRS _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1EBE-BE RIFMTEHEEEREE 15100 A 65,500 98,905/ 65,500 98,905[1.51x(1.01.00)|]| 0.000 0
* 2| FEHER R EHEEEREE 3510 A 57,400 201,474 57,400 201,474(3.51%(1.0x1.00)]| 0.000 0
* 3| FRETA RIFZMTEHEEEREE 3.020] A 51,200 154,624| 51,200 154,624[3.02%(1.0x1.00)]| 0.000 0
* 4| BB R EEEREE 4020 A 40,600 163,212| 40,600 163,212]4.02%(1.0%1.00)}| 0.000 0
* 5|FEfiC R EHEEEREE 1.010 A 32,800 33,128/ 32,800 33,128[1.01x(1.0%1.00)|| 0.000 0
* ez =] RIFMTEEEREE 1510 A 29,000 43,790[ 29,000 43,790(1.51%(1.0x1.00)]| 0.000 0
500(FEM & HELHEICHTSEE 2.000[ % 695,133 13,903 0 0 0.000 0
i 709,036 695,133 0.000 0
B 1 1.0 hayl) 142
EEANE 139
ZTRMBE 3
datza (BE) MHHREERUMBEE XE&AEWGEHE




= REE?
SR KBS gt
M ES 3353 | = %l 58 ZFEE| 3353 |REZAMEEER
BRA T[54\ 1EF J1-FNo ER > £ 1.00 YE R B L H AE e E A=
B &[S _ _ . 3 NEEAGE B o= [[REesRONES)
T #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
32[5A b/ 18%H.50 [1500 cc 6.000| FRS 501 3,006 0 0/85.80%2/30=5.72]| 0.000 0
915|HY) > = %0 15.600| L 128 1,997 0 0/2.60%6.00=15.60]| 0.000 0
B 5,003 0 0.000 0
H i 1.0 H4Y 5,003
EEANE 0
ZTDMhIEE 5,003
data| (&) B TFi7Eh ~IR15 85.80km 0.047km*56kw=2.60L
2




= REE?
SR KBS gt
M ES 3354 | = %l 58 ZFEE| 3354 |REHMEEER
HimE (R85 1—FNo e 5 B 1.00 YE R B 3L 5] AE T EAE A=E:
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T B & | By B m | & %8| B i | & %8 i H® | = %8
3353|S5A/ k3 ig% = & 15.000 H 5,003 75,045 0 0 0.000 0
E 75,045 0 0.000 0
B 1 1.0 H&Y 75,045
EEALE 0
ZDHMRE 75,045
data| (5#)




= REE?
A 25 {8 71 B 2% “sga
M ES 3355 | = %l 58 ZFEE| 3355 |REAMEEER
BRA T[54\ 1EF 1-FNo YER D 1.00 YE R B L H AE ESTETAE J=E-T
B s |BR _ _ f 3 NEEAGE B o= [[REesRONES)
T #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
32|51 ks \18%11.52 |1500 cc 4.000( FRE 501 2,004 0 0]66.20%2/30=4.41]| 0.000 0
916|HYV) > EhE 10.400( L 117 1,217 0 0[2.60%4.00=10.40]| 0.000 0
i 3,221 0 0.000 0
B fiff 1.0 BHY 3,221
EEANE 0
ZTRMBEE 3,221
data (%%) ETFIE~IRE 66.2km  0.047km*56kw=2.60L
2




= REE?
SR KBS gt
M ES 3356 | = %l 58 ZHFEE| 3356 |REHMEEER
BEifaH (REE J1-FNo ER > £ 1.00 YE R B L H AE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T B & | By B m | & %8| B i | & %8 i B& | = %8
3355|514 /N B %L EIE 13.000 H 3,221 41,873 0 0 0.000 0
B 41,873 0 0.000 0
B 1 1.0 H&Y 41,873
EEANE 0
ZTDMhIEE 41,873
data| (5#)




